
	Balance Sheet of ABC Co. ended on 31 Dec.

	
	2014
	2015

	Assets
	
	

	Current Assets
	?
	

	Cash
	200
	

	Accounts Receivable
	?
	

	Inventory
	800
	

	Net Fixed Assets
	2400
	

	Total Assets
	4000
	

	Liabilities
	
	

	Current Liabilities
	?
	

	Accounts Payable
	?
	

	Notes Payable
	500
	

	Long-term Debt
	1200
	

	Common Stock Equity
	?
	

	Total Liabilities
	?
	

	Current Ratio(=Current Assets/Current Liabilities)  
	2
	


Warning: Answer the following  questions

(1-3)considering  the above data.

	Income Statement of ABC Co.

	
	2014
	2015

	Net sales
	7200
	

	Cost of goods sold
	-6400
	

	EBIT
	800
	

	Interest Expense
	-120
	

	Taxable Income
	680
	

	Taxes ( 40%)
	-272
	

	Net income
	408
	


	Model Inputs for ABC Co.

	Growth of Sales
	10%
	NWC/Sales
	10%

	Increase in COGS 
	10%
	Interest Rate
	10%

	Payout Ratio
	2/3
	Fixed Assets/Sales
	1/3


1. Considering the Balance Sheet of the ABC Company; if; Current Ratio(=Current Assets/Current Liabilities)  is 2; Average Collection Period (=360/[Net Sales/Receivables]) is 30 days and Days in Inventory (=360/[COGS/Inventory]) is 45 days what is the Gross Profit Margin (= Gross Profit / Net Sales) of the Firm?

Current Assets=4000-2400=1600
Current Liabilities= 1600/2=800

Accounts Receivables= 1600-200-800=600 

Average Collection Period (=360/[Net Sales/Receivables]

30=360/[Net Sales/600]>> Net Sales=7200 

Days in Inventory (=360/[COGS/Inventory])

45=360/[COGS/I800]>> COGS=3200 

Gross Profit Margin (= Gross Profit / Net Sales)
Gross Profit Margin (= [3600-3200] / 3600)=11,11%
2. Considering the Balance Sheet of the ABC Company; if the Firm has 20000 number of shares outstanding each is traded over 40 Krş in Stock Exchange, what is the Market-to-book ratio (= Market Value of Equity / Book Value of Equity) of the Firm?

Market Value of Equity=20000*0,4=8000
Book Value of Equity=Total Assets-Current Liabilities-Long-term Debt= 4000-800-1200=2000 

Market-to-book ratio (= Market Value of Equity / Book Value of Equity)=8000/2000=4
3. Considering the Balance Sheet of the ABC Company; what is the Net Working Capital (=Current Assets – Current Liabilities) of the Firm?

Net Working Capital (=Current Assets – Current Liabilities)=1600-800=800
4. If the Firm ABC plans to increase its net sales 10% for the coming year; what may be the capital need of external financing for 2015? Firm works in full capacity!
Total Assets will reach to 4000*1,1=4400
So 10% increase in sales creates 400 extra capital

From Income Statement EBIT=880; 

Taxable Income= 880-120=760 >>

Net Income 760-760*40%=456>>

To Retained Earnings=456*1/3=152

External Financing Need= 400-152=248
5. Depending to the 4. Question what is the Internal Growth Rate (=Retained Earnings/Total Assets); or =Plowback * ROE* Equity/Assets) of the Firm ABC?

Internal Growth Rate (=Retained Earnings/Total Assets) 

Internal Growth Rate=152/4000= 3,8% or

Internal Growth Rate =Plowback * ROE* Equity/Assets)

Internal Growth Rate =(1/3)*(456/2000)*(2000/4000)=3,8%
	Income Statement of the Firm QRX, 2000

	Net sales
	?

	Cost of goods sold
	-42380

	Gross Profit
	7620

	Selling and Administrative Expenses
	-3120

	Depreciations
	?

	EBIT
	3500

	Interest Expense
	-1500

	Taxable Income
	?

	Taxes ( 50%)
	-1000

	Net income
	?


Warning: Answer the following  questions

(4-6)considering  the above data.

6. If Net Profit Margin (=Net Income/Net Sales) of the Firm QRX is 2%; What is the value of Net Sales?

If taxes 1000 and tax rate 50%>> Net Income= 1000

Net Profit Margin (=1000/Net Sales)=2%>>

Net sales=50000 

7. If the numbers of common shares outstanding are 20,000 and the Price Earnings Ratio (= Market Price of Each Share/ Net Income Per Share) of  the Firm QRX is 20;  what is the market price of each share;?

Net Income Per Share=1000/20000= 0,05
Price Earnings Ratio (=market price of each share /0,05)=20
market price of each share = 20*0,05= 1TL
8. If The Fixed Assets of QRX Corp  for the year of 2000 is 4200 and cash collected from sale old  equipment is 1000 what is the total value of Net Fixed Assets for the year of 1999?
Hint:Calculate depreciations from above table!
	QRX  Corp.
	Years
	Total

	Net Fixed Assets
	1999
	6200

	Depreciations
	2000
	1000

	Net Value
	
	5200

	Cash Paid
	2000
	-1000

	Net Fixed Assets
	2000
	4200


9. Financial data of Trans Railroad related with its Working Capital is as follows;
	 Trans Railroad
	2009
	2008

	Notes Payable
	1670
	1170

	Cash & Equivalents
	1420
	520

	Acc. Payable
	8185
	8285

	Acc. Receivables
	975
	875

	Net Fixed Assets
	40000
	45000

	Inventory
	10200
	10700


What is Net Cash Flow from Changes in Working Capital? Notify whether cash inflow or Cash Outflow.
	Trans Railroad
	2009
	2008
	Cash Flow

	Acc. Receivables
	975
	875
	-100

	Inventory
	10200
	10700
	+500

	Acc. Payable
	8185
	8285
	-100

	Notes Payable
	1670
	1170
	+500

	Net Cash Low
	+800


10. The share price of ABC Firm is 1,20 TL and The Company has 20000 shares outstanding.  If the Firm’s Fixed Assets Total is 28,000. If  the NWC (Net Working Capital) of ABC Firm is 4000; what is the Long-Term Debt Ratio [=Long Term Debt/( Long Term Debt + Equity)] ?
Net Working Capital=4000 

Fixed Assets=28000
Total Assets=28000+4000=32000
Equity= 1,20*20000=24000 

Long Term Debt =32000-24000=8000 

Long-Term Debt Ratio [=Long Term Debt/( Long Term Debt + Equity)]= 8000/32000=25%
11. If Current Ratio (=Current Assets/Current Liabilities) is 3; what is the value of Notes Payable?
	Cash
	400
	

	Accounts Payable
	1200
	

	Receivables
	4000
	

	Notes Payable
	?
	

	Inventory
	10000
	


Current Ratio =  Current Assets / Current Liabilities >> 2 = 14400 / Current Liabilities >>

Current Liabilities = 14400/3 = 4800
Current Liabilities = Accounts Payable + Notes Payable


4800  = 1200 + Notes Payable >>

Notes Payable = 3600
12. Fill the blanks with appropriate words or phrases:

a. ……………………………….. shows the firm’s cash receipts and cash payments over a period of time.
b. ………………………………..; financial claims to the income generated by the firm’s real assets.

c. Capital budgeting decisions are related with …………………………….   in tangible or intangible assets.
d. A …………………………………… is a  business organized as a separate legal entity  owned by stockholders.
e. The form and amount of financing of a firm’s investments is known as ………………………… decisions.
f. Assets used to produce goods and services are classified as …………………………….
g. ……………………………….. is the financial statement that shows the firm’s assets and liabilities at a particular time.
h. The ability to sell or exchange an asset for cash on short notice at close to the market price  is known as ……………………………….
i. ………………………………. Shows the revenues, expenses and net income of a firm over a period of time
j. ………………………….. is market where securities are issued and traded.

Warning: 


There are 10 questions in TEST.


Time is 70 minutes. Total point is 100.				                             Successes!





Student Name :


Student ID      :


Class               :


Date	            :


Signature	:





MAN 310 BUSINESS FINANCIAL MANAGEMENT


2014-15 Spring Final Exam








PAGE  
1

